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T3 B R AU A8 2R PR E I R B B A R R AN T 3 F8 E A A R 3
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o_i
Bi
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ARA BRE HBFE ORMERE IRFER =—tER FEKE DRERA EREHA UFREe FARE FEER
0.009338 0.014323 0.010871 0.009842 0.004547 0.038714 0.003964  -3E-05 0.003569 -0.00265 0.001313 0.010001
0.790603 0.655163 0.590221 1.134348 1.058736 0.880709 1.178086 0.883918 0.620363 0.758316 0.732124 1.037056
0.002683 0.003918 0.003902 0.006898 0.003769 0.012463 0.001615 0.001406 0.002001 0.003078 0.002628 0.003308

5. SIM WFB B R

A hiRE WHE OREEE MFERR =tEHE RERE DREHA ERES LFKES FARG PEER
o_i 0.009338 0.014323 0.010871 0.009842 0.004547 0.038714 0.003964 -3E-05 0.003569 -0.00265 0.001313 0.010001
Bi 0.790603 0.655163 0.590221 1.134348 1.058736 0.880709 1.178086 0.883918 0.620363 0.758316 0.732124 1.037056
residual 0.002683 0.003918 0.003902 0.006898 0.003769 0.012463 0.001615 0.001406 0.002001 0.003078 0.002628 0.003308
w wl w2 w3 w4 wb w6 w7 w8 w9 w10 will wil2 Market
r 1 0166222 0.245235 0.195182 0.020761 0 0.208502 0 0 0.088104 0 0 0075994 0.747931
w_i*B_i 0.131416 0.160669 0.115201  0.02355 0 0.183629 0 0 0.054656 0 0 007881 0.747931
w_ixoLi 0.001552 0.003513 0.002122 0.000204 0 0.008072 0 0 0.000314 0 0 0.00076 0.000838
(w_ir2)sres 7.41E-05 0.000236 0.000149 2.97E-06 0 0.000542 0 0 1.55E-05 0 0 191E-05 0.000498
sum of B_i 0.747931
min-var 0.001536
standard d° 0.03919
r* 0.017375
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Bp = Zw,-Bi and for the index, 3,1 = By = 1
i=1
n+1
a’(ep) = Ew,-zcz(e,-) and for the index, (e, .|) = a*(ey) = 0
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R LR KA G B P B . R R . 7 =AW



FAERZFHA TRE  FHE  OREBFEE NERR =thKR FERE DREFA EmEZ LER#He FFHRS PEER Market

al 0.0094095 0.0144407 00110102 0.0097961 0.0045275 0.0387545 0.0039032 9.451E-06 0003698 -0.002571 0.0014037 0.0099883 0
Bi 0.7906025 0.6551626 05902213 11343479 10587358 0.8807093 11780858 0.8839177 0620363 0.758316 0.7321236 1037056 1
resudual 0.002683 0003918 0.003%02 0006898 0003769 0012463 0001615 0.001406 0002001 0003078 0.002628 0.003308 0

mmigj@zm AHA ERE  FHE OREEE REER =StEHE FEKE LREHA EREH LFER#HRS FIRSG REER Market

Weight 1 01623635 02548549 01814095 00392583 0 02567227 0 00013157 0 0 0 01040754 0
wa2 0.0263619  0.064951 0.0329094 0.0015412 0 0.0659066 0 1731E-06 0 0 0 0.0108317 0
T (W_i*A i) 7 0.0185787 Market

T (W_i*B_i) " 07821338 i iEE 0.0011205

E(R.m)* T (Wi_*Bi) 00008764 T2 0.0008303

ER p) 0019455

S [(W_i)A2+o(ei)”2] 00013215

ap 00431987

Sp 04503615

AR T 12 WKL B R ER AR S, DA 33546 Bl & HRL
#H RIS RENRTFLZERE N TSR EAHARINEN 0, HAEWREEN
0.019455, ZHEFRMEZ N 0. 0431987, B2 0. 4005536,

c. RHFZZEHIBM

A excel MMIRIRMIIGE, LA o HEMB . HAEMIRZERM,
SRIE VB A AR RS . A AR Z R LB 2, PR R H bR B
NEEHRRK, RELARFMEANEZNET 1. EMNEREELRAKTE
T 0, KAl E TR R KA G E = BE ., IR i ZE,
K.

AEZE AHA IRR  FHEZE  CREEE AERR =tER FEBEE DREF EnEx UEES FFRH PEER  Market

ai 0.0093383 0.0143235 0.0108709 0.0098417 0.0045474 0.0387139 0.0039638  -3E-05 0.0035689 -0.002653 0.0013127 0.0100009 0

Bi 0.7906025 0.6551626 0.5902213 1.1343479 10587358 0.8807093 1.1780858 0.8839177 0.620363 0.758316 0.7321236 1.037056 1

resudual | 0.002683 0.003918 0.003902 0.006898 0.003769 0.012463 0.001615 0.001406 0.002001 0.003078 0.002628 0.003308 0

AEES ﬂi?jﬂ FRA ARE  FHE REEE IRERR =tEE SEBEE DREE EmEZ UFRES FFRH FEER Market

Weight 1 07651891 0.8037211 0.6124905 0.3136678 0.2652542 0.6829135 0.5395815 -0.004691 0.3921111 -0.189471 0.1098129 0.6646515 -3.955231
wA2 05855143 0.6459676 0.3751447 0.0983875 0.0703598 0.4663709 0.2911482 2201E-05 0.1537511 0.0358992 0.0120589 0.4417616 15643852

T (W_i*A i) 7 0.0668797 Market

T (W_i*B_i) " 0.2766696 mipigEEE 0.0011205

E(R_m)* T (Wi *B_i) 0.00031 TiHIERAE 0.0008903

E(R_p) 00671897

3 [(W_i)A2*o(ei)A2] | 0.0147033

op 0.121538

Sp 05528287

AR T 12 HRES B B R R A, DA R 48 B & 1)
WE, AW EN 0.0671897, HEnHEZE N 0.121538, HELERN
0. 552828723,

d. PR DL BB DU R B 7= 41 & % El 7B

W AT, ARG DN BB L KU B 4 5 e S EAS Se v
ST DL N BP0 RS B 4 45 B e PO 300 S A 3N B, Ui B SR VRS S 11
RS A SCVE S22 S OUMT B, BESR L BE fmy PO WAe e A BE 8 1 XS A 2 AU

1 FI N BATE MR, LRI T, BTARRETES, ZLKTRE
fR#, B FRHEWRRAARHEEEZE K.
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BRI TR K
MR i U
B R A
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FER A 7R A

(2) B B R BB AR SIMRMKKAS (R a « B\ residual)
a. FEARK

1. Compute the initial position of each security in the active portfolio as

w? = a/o(e;).

2. Scale those initial positions to force portfolio weights to sum to 1 by dividing by

w?

their sum, thatis, w; = —

2 Wy
3. Compute the alpha of the active portfolio: ay = EL Witk

4. Compute the residual variance of the active portfolio: 0*(e,) = E:l: wia(e).

xa/,
RO Lo | So(en)
5. Compute the initial position in the active portfolio: wy = ERD, |
M),
/O
6. Compute the beta of the active portfolio: B, = E:I: Iw,-B,-.
Wi

7. Adjust the initial position in the active portfolio: wy L+ (=Bl
8. Note: the optimal risky portfolio now has weights: wy =1 — wiw = waw,.
9. Calculate the risk premium of the optimal risky portfolio from the risk

premium of the index portfolio and the alpha of the active portfolio:
ERp) = (wy + wiBA)E(Ry) + wiay,. Notice that the beta of the risky portfolio
is wy; + wyB,4 because the beta of the index portfolio is 1.
10. Compute the variance of the optimal risky portfolio from the variance
of the index portfolio and the residual variance of the active portfolio:
o} = (wy + waBa)’oh + [wao(ey) .

b. N AR HENR

F A Excel A MMULT #0 Transpose PR, @ &N EER) a Fl residual 153
FUE, EEALEANDY 1, REE5] o S, B B, residual A1, KL 12 H
Eﬁ%%*@Eﬁﬁ@iﬂi&éﬂ%?*ﬂﬂ?t%?ﬁiiﬁ%ﬁ%ﬁi%?ﬁﬁ%%EﬂHiﬁtﬁlﬁi,?@vfﬁiﬁﬁé?ﬁ@ﬂﬂzéq&
an AR ZE



FRFREFHA BARE  HFE CRBEE MFERR ZtEE PEBRE LRER EREA WEES FARH FERR B
o 0.009338308 0.0143235 0.0108709 0.0098417 0.0045474 0.0387139 0.0039638  -3E-05 0.0035689 -0.002653 0.0013127 0.0100009 0
Bi 0.790602544 0.6551626 0.5902213 1.1343479 1.0587358 0.8807093 1.1780858 0.8839177 0.620363 0.758316 0.7321236 1.037056 1
residual 0002683 0.003918 0003902 0.006898 0.003769 0012463 0001615 0.001406 0.002001 0.003078 0.002628 0.003308 0
WAQ_ 3480547149 3.6558146 2.7859809 14267519 12065357 3.1063068 2454338 -0.021349 17835607 -0.861834 0.4994912 3.0232422 22.539387
Wik 0.154420669 0.1621967 0.123605 0.0633004 0.0535301 0.1378168 0.1088911 -0.000947 0.0791308 -0.038237 0.0221608 0.1341315 1
o i[FAfR4A7 0.001442028 0.0023232 0.0013437 0.000623 0.0002434 0.0053354 0.0004316 2.843E-08 0.0002824 0.0001014 2.909E-05 0.0013414 0.0134968
072(e_A)[E 6.39781E-05 0.0001031 5962E-05 2.764E-05 1.08E-05 0.0002367 1.915E-05 1.261E-09 1253E-05 4.5E-06 1.291E-06 5.952E-05 0.0005988
RIRESH  17.9100166
B_AFAtRLE 0122085373 0.1062652 0.0729543 0.0718047 0.0566742 0.1213766 0.128283 -0.000837 0.0490899 -0.028996 0.0162245 0.1391019 0.8540268
PERIRE  4.955207712
hiHEEH -3.955207712
FRIA BRE HRE ORBEE INFRR ZtER PEBE LREA EBREH UEERe FARH FEER  Market
ZENBRAEY 0765186488 0.8037184 0.6124884 0.3136666 0.2652528 0.682911 0.5395779 -0.004693 0.3921098 -0.189471 0.1098114 0.6646495 -3.955208
0.14859801 0.1560809 0.1189443 0.0609136 0.0515117 0.1326202 0.1047852 0 00761471 0 00213252 0.1290739 0

WA2 0.022081369 0.0243612 0.0141477 0.0037105 0.0026535 0.0175881 0.0109799 0 0.0057984 0 0.0004548 0.0166601 0
hiHIEE ¥ (W_i*A_i) 0.0128902
HiHIEEE 0001120479 Y (W_i*B_i) 0.8505324
TIHIEEE  0.000890343 E(R.m)* 3( 0.000953
THHIEHA 0029838621 E(R_p) 0.0138432

¥ [(W_i)A2# 0.0005503

ap 0.0345603

Sp 0.4005536
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c. RFEZEHIFIL

BT 12 RIRES H N EM RS, URARIT a5 & R
VIHAEWZEER N 0. 0138432, 2HEFREZ N 0. 0345603, B HLLE A 0. 4005536,

A Excel B MMULT A1 Transpose PREL, @S EEER] a Fl residual 153
BEE, HERERERNN 1, A58 a SA. B LA, residual &A1, RiEH 12 K
J SEAL BRI AR B A A A T 3 FE G B4 A 1 9% B B R, B4 1 B ER R

o AR EZE o

d. PR D0 B AL R B 7= 2 A F

W BT, JATE B VL

/‘E A[EE

H

AHFRE FHRA ERE FEE REERE MFER =tER FERKE DR&EHA BREH LEES FFRS FERK 2
ai 0.009338308 0.0143235 0.0108709 0.0098417 0.0045474 0.0387139 0.0039638  -3E-05 0.0035689 -0.002653 0.0013127 0.0100009 0
Bi 0.790602544 0.6551626 0.5902213 1.1343479 1.0587358 0.8807093 1.1780858 0.8839177 0.620363 0.758316 0.7321236 1.037056 1
residual 0002683 0.003918 0.003%02 0.006898 0.003769 0012463 0001615 0.001406 0.002001 0.003078 0.002628 0.003308 0
WAQ_ 3480547149 3.6558146 2.7859809 14267519 1.2065357 3.1063068 2454338 -0.021349 17835607 -0.861834 0.4994912 3.0232422 22.539387
W_iifEfk 0154420669 0.1621967 0.123605 0.0633004 0.0535301 0.1378168 0.1088911 -0.000947 0.0791308 -0.038237 0.0221608 0.1341315 1
o i[FR#R4E7 0.001442028 0.0023232 0.0013437 0.000623 0.0002434 0.0053354 0.0004316 2.843E-08 0.0002824 0.0001014 2.909E-05 0.0013414 0.0134968
0/2(e_A)[F 6.39781E-05 0.0001031 5962E-05 2.764E-05 1.08E-05 0.0002367 1.9156-05 1.261E-09 1253E-05 4.5E-06 1.291E-06 5.952E-05 0.0005988
RIREER  17.9100166
B_AFRIR4  0.122085373 0.1062652 0.0729543 0.0718047 0.0566742 0.1213766 0.128283 -0.000837 0.0490899 -0.028996 0.0162245 0.1391019 0.8540268
BERIRE  4.955207712
THESH -3.955207712
BHEA ERE FHE REEE MFER =tER FERE DREFA BREH WEES FFARS PEEK  Market

EMRME 0765186488 0.8037184 0.6124884 0.3136666 02652528 0.682911 0.5395779 -0.004693 0.3921098 -0.189471 0.1098114 0.6646495 -3.955208
wA2 0.585510361 0.6459633 0.3751421 0.0983867 0.070359 0.4663675 0.2911443 2.203E-05 0.1537501 0.0358993 0.0120586 0.441759 15643668
ThiHER T (W_i*A_i) 0.0668794
ThIHIEEE  0.001120479 T (W_i*B_i) 0.2766724
hiHIEEE  0.000890343 E(R_m)+ Y (  0.00031
TiHEELE 0029838621 E(R_p) 0.0671894

3 [(W_i)A2: 0.0147032

op 0.1215375

Sp 0.5528287
=) 4 >, N / M
WZAFE] T 12 REES 3 BIBCEEM IR G, DUAAS 2T 46 30 & BRI

VN N Ve D N A

H, HA K 0. 0671894, HEHRiEZE )y 0. 1215375, HH A4 0. 5528287,
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[FIRE, BRAT T e KA LU R 59—, AERERZIRIEOL S, BT AR
BEATSEAS, AT R BIR ], B A s AR HE AR 2 K



TR o, e
SR R R
SRR P R B
SRR 7R K

MR U T

R T R A
B R B
SRR A 7R K

(3) WMITERBIRRA S HRASHIHE

MW, ATDE S ERRVFEEMEOL T, PRNTVERS 2 1R ot Abr e Z2 4
i, HEAFEBIRAT R CEERJUALNEALZERD, XK 7 R 5T 5 IR
ft.

AN W A5 92 B ORI SR s AR HEZE R AR, BIANIX A2 BIOA Excel
FRIR A B B WS W96 R R, FFEERE: (HE ARG, B RIE 2 — R,

TR el S KERIE
B R A B RER
B DU BB
fERA 1 5K

MR NG e,
B R R A
B BE B
SRR 1

U AR

(4 JEit BPG J iR SIM BAR RS (I Cxbl )
5%F Treynor-Black FRMZZEL A FHANEERL KAV & IR 25— XU B 28 ) 551, Eltons
Gruber. Padberg 7E 1976 4E4H T ZEA T S5 M T 24 5100 44 1 5 H 2 £ 1)
WGFF S 4 g, 5 DA B DR 3 TR g BB LA B 7 2 R, /33K B 2
RO, SINTRB AR, !

a. FEAK

Ri - Rf
Excess return =
fﬁ%ﬁlﬁtﬁ .Bi

[E(r})_rf]bi

2
o2

C _ Gsi
VIFHZE: “o 1"'(7,312([71‘2/0}21')

b, E(r)-r,
BRSE: w2, gz =—5] ; ! _
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b. R AFZZEM RHFZZEHFIR
AL EPG U5k, TR M At ATAR 5 A AR B A S DD BI LR, AT DARA SE 7E fe
VPSEZ A FRvF s i BRI S UL

0.00034 Excess return
Eni Bi BREHE  (Eri-d)yBi (Er-f)/REHZ BINV/RENE FIF+Bi  Zi Wi- S5 10454735
1 00102954 0.7906025 0.002683 0.0125921 37105317 23296772 29335558 17843234 ( 68
2 00151748 06551626 0003918 0022643 37863251 109 55538 24806585 19402206 (
3 00116716 05902213 0.003902 0.0191988 2904037 89.277585 17140244 12736171 (
4 00110671 11343479 0.006898 0.0094566 15550985 186.53887 17640227 0.8438244 (
5 0.0057138 10587358 0.003769 0.0050756 14257771 297.40556 15095213 0.0424163 (
6 00397413 0.8807093 0.012463 00447381  3.16146 62.236126 27843272 24773157 ( 563
7 00052232 11780858 0.001615 0.0041451 30236698 859.3722 35621424 -0.67715 -0 0
8 0.0009999 0.8839177 0.001406 0.0007465 04693189 555.69731 04148393 -2.326422 0
9 00043931 0620363 0.002001 0.0065334 2.0255298 19232899 12565638 0.3078028 ( ).0294415|
10 -0.001721 0.758316 0.003078 -0.002718 -0.66955 186.82363 -0.50773 -1.429333 0
11 00022241 0.7321236 0.002628 0.0025734 0.7169215 203.95925 0.5248751 -0.481258 61 0.0528063 )
12 00111503 1037056 0.003308 0010424 3.2679218 32511643 3.3890179 17852149 ( 77 0.1707566
fn: 33012791 21825818 55405718 1 1
co 0.004933

Market  #E¥(/7% 00008903
W2 00011205

SRR RYE BRI R A, B SHAG 2 T 4E EPG JivA T, B & AT Wiz Al
bRiEZE R LA TAE ARV SN, B L RERTARFZZERHMR.

c. PR DL I AL R BE 7= 2 A F

W BT, ARG B SevFL 2 i 00 T IR U KU 557 41 A RIS LEAS
FEVFS AT DL [0 B D0 RS B 7 2 45 B8 v PO 300 S A 3 R B2 LU 6, U ) FE VP S
DS A SRVFSE IR OO LE,  BE SR 5 vy AL 2 A0 BE I A8 XU RS A 2 AUAES
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SIMAATFSEZ (EPG)
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SIMA R FEZE (EPG)
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REZE

M. 5 RER AR REAH ROL AR HE
1. Rz RHEA

0.03

0.025

0.02
G

% 0.015
o — DR A¥RS

N
0.01 —SIMA =

0.005

0
0 0.02 0.04 0.06

REZE



2. ARHEZEHR

0.035
0.03
0.025
18
= 0.02
@om5 — ORRAES
o SIMF A sss
0.005
0

0 0.02 0.04 0.06 0.08
FRAEE

3. HES T

(D MNEFZ [AHEE, Toib & Rirse Sk e A Ve G oL, & IR AH
PR RS B A ROA R AR, BRAERRATERUY 12 AR A A,
PRI A TF B Rl F o, nT LR — @ R RE b i B 5 DR 3R A 2R 0 Bk 22 T
P E CARIBE P2 AR Z2 T ) EAAE O FE— 150 T A& AL 1

(2) RAEAKXMMOZ = SIMOZ + XiL, ¥, wy wicov(e;, &)

JE!

SN M 26 — R BT 72 [A) B B 07 22 2 R0, FEW 2R R AH R IGO0 T » & R IERT,
STIM BEARAS TH ) XU 7 24 bl 5 IO AT B XU /s B A, SIM BRAR A 1)

DR A¥RS B 0.01 0.012 0013 0.014 0.015 0.016 0.017 0018 0.019 0.02 0.0205 0.021 0.022 0.023 0.024 0.025
EZE 0031661 0033381 0.034434 0035599 0036867 0038227 0039671 0041188 0042771 0044413 0045255 0046109 0047851 0.049636 0.051459 0.053315

SIMA ¥ s 001 0.0105 00135 0014 00145 0015 0.016 0017 0018 0019 0.02 0021 0.022 0023 0.024 0025
EZE 0029833 003019 003313 0033723 0034357 0035019 0036419 0037911 0039485 0041131 0042842 0044609 0046426 0048288 005019 0052127

DRFALRS s 001 00105 0013 0014 0.015 0.016 0017 0018 0.019 002 0021 0.022 0023 0024 0.025 0.026 003
ST ORREE 0031661 003204 0034434 0035602 0036922 0038424 0040093 0041908 0043873 0046054 0048441 0051004 0053721 0056578 0059556 0.062637 0.075746

s 001 00105 0013 0014 0.015 0016 0017 0018 0.019 002 0021 0.022 0023 0024 0.025 0.026
EE 0029833 003019 0032552 003375 0035135 003671 0038474 0040443 0042591 0044892 0047346 0049995 0052814 0055779 005888 006223

RIS 7 24 bt By PR R A 3 (0 AR K o ARFEERATT I SCUERT 7T, EROR PR f) 4 2K
AFA AL, B SIM AR VAT HOA SR 2848 1 A RO S M, XU
STM B AL T H A2 & B AR D, BRI 7 2 IR (K B 7 Z2 2 AN IE . X B S
BLSEAR OUMAT (T B 58 A 52 3K R A 2 A 2, K28 i IR AE AR G
KA, W EIATHIHAF A Frig B 12 RS Z 18] AR 5C SR EOR P 5 ZZ# 1R 4K
KOV . N R IR AT AT X — 15 L

P LA STV ASE FREAR A XS (14 Jir R 5 A TSR 45 5 Z2 I s 1 L5 B 7 (R A7 AE 1
REFHWHITZE.

SIMF A=

4, BE

FEARE 5 IR A B IR (26 R, BRARAE T Z /NI — 1, SIM R AR A
K il AR B ) SRS O B, (HR WK B, PR TS H 7 RRT
W2 B ERAKR, B, U SIM BRI R A 5 — AN T 1k



Fi. beta REHI LUK LK

L 3RAT PR ABEER 7 SR 18] A A W g =R P2 R 23 D A I e B, BRI A) B
FL4E 188 MEHE .

2. 73 IR BRI W ot R 5 T I Fe A an R AT MR R, B HUBEER S 2
T RIS B4 beta. BIAZE R TR

ZIRERIPIH beta
betal beta2
sl 0.601234 1. 220504
s2 0. 396664 1. 263793
s3 0. 536634 0. 709622
s4 1. 246673 0.84419
sb 1.221908 0.651481
s6 0. 790301 0. 982673
s7 1. 168028 1. 217942
s8 0. 813994 1. 053306
s9 0. 453002 1. 030725
s10 0. 850901 0. 542931
sll 0. 695922 0.830751
sl2 0. 962957 1.203797
3. XA beta #EATRIH T, 45 2ILLR EE:
B,=1.124-0.198x
A UG
betalg] /)3
15 -
* * * *
3 ] 58
E 05 ¢ 'S * oY
Fom Y
0 ‘
0 0.5 1 15
betal

4. AV 77 5 Blune (1752
3.=0.343+0.677Bx

HAT R, WoRkREd L. (HEARE, BIREEASR T Blune 4
x B ARITEHMM L, R B KT LI, B AE/NER 1 %3



e wrll B AT 1, N B AR 1 RSRES

5. [BIAGE o #r
FATVRKBLENEAGH 8725 Blume B R HF AL, [FIF R square 1R,
betal tWAREIEIL t fa i, XUHLHEAIERE M Ak S 80245 R A

SUMMARY OUTPUT

B 3%t

Multiple R 0.2368254
R Square 0.0560863
Adjusted R -0.038305
BARZE 02500117

X E 12
HESIT

df SS MS F ignificance F
EPERRn 1 0.0371403 0.0371403 0.5941884 0.4586294
BRE 10 0.6250585 0.0625059
2it 11 06621988

Coefficient: s/ E1=E  tStat P-value Lower 95% Upper 95% T~BR 95.0% PR 95.0%
Intercept 11236432 0.2209823 5.0847663 0.0004745 0.631264 16160223 0.631264 16160223
X Variable -0.198394 02573749 -0.770836 04586294 -0.771861 03750731 -0.771861 0.3750731

BB ERGNFEATEACHIRER, FATATNA, fr/\A 528+
HIER [ beta Jp RN, 45 R 505108

S1—84 S1—58
B|2:1236-0326B|1| B|2:1221—02698u
S1—S12

Bi2:1.124-0.198&1

W AT AR BB R A B BRI R, beta [H[JHJ7FRIZHIENT Blume ]
Jite. DL, HEFHEZAME, FARCR S E A,

HIR, BATEIA > sAHIRT IR beta (AR, WIAREX M /L (sl
JIREAL s2 TR o5 RSB0 FRERTESN, FEEF P beta 1F[H15>
B, RN RT

B,=0.746+0.227Bx

X5 R Blume 7R . Xfuk, FRATHKIB . BT 3ATE+E
H 12 STBEE AT 12 M7k, I HAER B BT LAV — A Ak, X
Sl 5 i J@AT ML B SRR ROR o TAT ML R A7 A R e, 7 o J e 5
s G A RBURIN BT AL AR 2 R IUBOR N, I el th A 32 BB
sz, AT IR beta T3 BRI 1% 100 o

BT



—. HEEFEE Python JEAHY
import xlrd
import pandas as pd
from datetime import date
data = xlrd. open_workbook (" 1(1). x1sx’)
columname = data. sheets() [1]
ncols = columname. ncols
sheetList = []
for i in range(0, 13):
sheetList. append (data. sheets () [i+2])
for i in range(0, 13):
index = sheetList[i].col values(0, start rowx=0, end rowx=None)
priceStr = columname. col values(i*2, start rowx=0, end rowx=None)
rateStr = columname. col values (i*2+1, start rowx=0, end rowx=None)
priceStr = priceStr[0] + priceStr[1]
rateStr = rateStr[0] + rateStr[1]
column = [priceStr, rateStr]
nrows = sheetList[i]. nrows
INDEX = []
for j in range (0, nrows) :
x = xlrd. xldate. xldate _as_tuple(index[j], 0)
INDEX. append (x[0:3])
index = INDEX

data = []
for j in range (0, nrows) :
data. append (sheetList[i]. row values (], start_colx=1,
end colx=None))
sheetList[i] = pd.DataFrame(data= data, index= index, columns=
column)

indexList = sheetList[0]
for i in range(1, 13):
indexList = indexList. join([sheetList[i]])
dataframe = indexList
dataframe = dataframe. dropna(axis=0, how= all’)
dataframe. to _csv( dataframe. csv’, encoding = “utf 8 sig”)
weeklyRate = []
Mean = []
for i in range(0, 13):
weeklyRate. append (dataframe. iloc[:, i%2+1] + 1)
Mean. append (dataframe. ilocl:, i*2]. mean())
import numpy as np
CAGR = []
for i in range(0, 13):
CAGR. append ( np. power (weeklyRate[i].prod(), 1/13) )



RateColumn = []

PriceColumn = []

for i in range(0, 13):
RateColumn. append (dataframe. columns [i%2+1])
PriceColumn. append (dataframe. columns[i%2])

RatefillNa = dict(zip (RateColumn, CAGR))

PricefillNa = dict (zip(PriceColumn, Mean))

dataframe = dataframe. fillna(value=RatefillNa)

dataframe = dataframe. fillna(value=PricefillNa)

dataframe. to _csv( dataframe fillna.csv’,encoding = “utf 8 sig”)



